
 

MODEL QUESTIONS – 2021 

CLASS – Xth 

Mathematics 
            
TIME – 3 HOURS         FULL MARKS – 100 

     

 

    

1 lHkh Á’u vfuok;Z gSA 

 All question are compulsory. 

2 bl Á’u i= esa 49 Á’u pkj [k.Mksa A, B, C vkSj D esa foHkkftr gSaA [k.M A esa 30 Á’u 

ÁR;sd 01 vad dk] [k.M B esa 10 Á’u ÁR;sd 02 vadksa dk] [k.M C esa 05 Á’u ÁR;sd 4 

vadksa dk rFkk [k.M D esa 04 Á’u ÁR;sd 5 vadksa dk gSA 

 This question paper consists of 49 questions divided into four sections A, B, 

C and D. Section - A contains 30 questions of 01 mark each, Section - B 

contains 10 questions of 02 marks each, Section - C contains 05 questions of 

04 marks each and Section D consists 04 questions of 05 marks each.  

3 Á’uksa ds mÙkj Á’uksa ds lkFk fn, x, funsZ’k ds vkyksd esa gh nhft,A 

 Answer of the questions must be in the context of the instructions given 

therein . 

4 jpuk ds mÙkj esa dsoy vadu nhft,A 

 Only sketches are to be given in the answer of construction. 

5 lHkh jQ dk;Z Á’u&lg&mÙkjiqfLrdk ds var esa fn, x, i`”Bksa ij dhft,] vU;= dgha 

ughaA 

 Do all rough work only on the last pages of the Question-Cum-Answer 

booklet and no where else. 
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[k.M & [k.M & [k.M & [k.M & A (Section – A) 

Á’u la[;k 1 ls 3Á’u la[;k 1 ls 3Á’u la[;k 1 ls 3Á’u la[;k 1 ls 30 rd ÁR;sd 1 vad dk gSA fn, x, pkj fodYiksa 0 rd ÁR;sd 1 vad dk gSA fn, x, pkj fodYiksa 0 rd ÁR;sd 1 vad dk gSA fn, x, pkj fodYiksa 0 rd ÁR;sd 1 vad dk gSA fn, x, pkj fodYiksa esa esa esa esa ls lgh fodYi dk p;u dhft,Als lgh fodYi dk p;u dhft,Als lgh fodYi dk p;u dhft,Als lgh fodYi dk p;u dhft,A    
(question numbers 1 to 30 carry 1 marks each. Choose the correct option from given four 

options) 
 

Á’u 1. fuEufyf[kr esa esa dkSu 140 dk vHkkT; xq.ku[k.M gS \ 

(A) 22 5 7× ×   (B) 22 5 7× ×   (C) 22 5 7× ×   (D) 2 5 7× ×  

  Which of the following is the prime factorization of 140 ? 

(A) 22 5 7× ×   (B) 22 5 7× ×   (C) 22 5 7× ×   (D) 2 5 7× ×  

Á’u 2. y = p(x) dk xzkQ fn;k x;k gS] cgqin p(x) ds ‘kwU;dksa dh la[;k D;k gS % 

 

 

 

(A) 1  (B) 2  (C) 3  (D)  0 

  The  graph of y = p(x) is given the number of zeros of the polynomial p(x) is : 

 

 

(A) 1  (B) 2  (C) 3  (D)  0 

Á’u 3. cgqin 2 3x −  ds ‘kwU;d gS % 

(A) 3, 3      (B) 3, 3− −   (C) 3, 3−   (D) 3, 3 

  The zero of the polynomial 2 3x − is : 

(A) 3, 3      (B) 3, 3− −   (C) 3, 3−   (D) 3, 3 

Á’u 4. fuEufyf[kr esa dkSu f}?kkr lehdj.k gS \ 

(A) ( )
2

2 1 2 3x x− + = −    (B) ( ) ( )( )1 8 2 2x x x x+ + = + −   

(C) ( )( ) ( ) ( )2 1 1 3x x x x− + = − +   (C) buesa ls dksbZ ugha 

  Which of the following is a quadratic equation ? 

(A) ( )
2

2 1 2 3x x− + = −    (B) ( ) ( )( )1 8 2 2x x x x+ + = + −   

(C) ( )( ) ( ) ( )2 1 1 3x x x x− + = − +   (C) None of these 



   

Á’u 5. 2 0ax bx c+ + =  ds nks fHké okLrfod ewy gksaxs ;fn %  

(A) 2 4 0b ac− >    (B) 2 4 0b ac− <   

(C) 2 4 0b ac− =    (C) buesa ls dksbZ ugha 

  2 0ax bx c+ + =  will have two real and distinct roots if : 

(A) 2 4 0b ac− >    (B) 2 4 0b ac− <   

(C) 2 4 0b ac− =    (C) None of these 

Á’u 6. lekarj Js.kh 4, 10, 16, 22 ………………….. dk lkoZ varj gS % 

(A) 4  (B) 6  (C) -4  (D)  -6 

  The common difference of the A.P 4, 10, 16, 22 …………………. is : 

(A) 4  (B) 6  (C) -4  (D)  -6 

Á’u 7. ;fn lekarj Js.kh dk ÁFke in (a) = 10  vkSj lkoZ varj (d) = 10 gS rks rhljk in gksxk % 

(A) 10  (B) 20  (C) 30  (D) 40 

  If first term (a) of an A.P is 10 and common difference (d) is 10, then third term will be 

% 

(A) 10  (B) 20  (C) 30  (D) 40 

Á’u 8. 
 

0

0

tan 26

cot 64
dk eku gS % 

(A) 0  (B) 1  (C) 2  (D) 3 

  
The value of 

0

0

tan 26

cot 64
 is % 

(A) 0  (B) 1  (C) 2  (D) 3 

Á’u 9.  ( )090Sec A− cjkcj gS % 

(A) sin A  (B) cos A (C) tan A (D)  cosec A 

  ( )090Sec A− is equal to % 

(A) sin A  (B) cos A (C) tan A (D)  cosec A 

Á’u 10. 2 2sin cosθ θ+  dk eku gS % 

(A) 0  (B) 1  (C) 2  (D) 3 

  The value of 2 2sin cosθ θ+  is % 

(A) 0  (B) 1  (C) 2  (D) 3 



   

Á’u 11. ewy fcUnq dk funsZ’kkad gS % 

 (A) (0, 0) (B) (1, 0) (C) (0, 1) (D) (1, 1) 

  The co-ordinate of origin is % 

  (A) (0, 0) (B) (1, 0) (C) (0, 1) (D) (1, 1) 

Á’u 12. fcUnqvksa (-3, 4) vkSj (7, 8)  dks feykus okys js[kk[k.M dk e/; fcUnq gS %  

(A) (3, 5) (B) (2, 4) (C) (3, 1) (D) (2, 6) 

  The co-ordinates of the middle points of the line  segment joining the points (-3, 4) and  

(7, 8)  are  %  

(A) (3, 5) (B) (2, 4) (C) (3, 1) (D) (2, 6) 

Á’u 13. 
ABC∆ ,oa DEF∆ bl Ádkj gSa fd AB BC AC

DE EF DF
= =  ,oa 0 040 , 80A B∠ = ∠ = ] rks dks.k 

F∠ dh eki gS % 

 (A) 30
0
    (B) 45

0
    (C) 60

0
   (D) 40

0
 

  
ABC∆ and DEF∆ are such that AB BC AC

DE EF DF
= =  and 0 040 , 80A B∠ = ∠ = ] then the 

measure of F∠  is : 

 (A) 30
0
    (B) 45

0
    (C) 60

0
   (D) 40

0
 

Á’u 14. lef}ckgq ledks.k f=Hkqt ABC dk dks.k B ledks.k gSA ;fn BC = 4cm rks AC dk eku gksxk % 

(A) 5 3cm   (B) 4 2cm  (C) 6cm  (D) 16cm  

  ABC∆ is an isosceles triangle right angled at B. If BC = 4cm, then the value of AC will 

be % 

(A) 5 3cm   (B) 4 2cm  (C) 6cm  (D) 16cm  

Á’u 15. o`Ùk dh lcls cM+h thok gksrh gS % 

(A) pki        (B) pkid.kZ  (C) O;kl      (D) buesa ls dksbZ ugha 

  Largest chord of a circle is : 

(A) Arc (B) Choral (C) Diameter   (D) None of these 

   



Á’u 16. fdlh o`Ùk dk O;kl 14cm gS rks mldh ifjf/k gksxh %  

 (A)  22cm      (B) 7cm    (C)  44cm    (D)  25cm  

  The perimeter of the circle of diameter 14cm is :  

 (A)  22cm      (B) 7cm    (C)  44cm    (D)  25cm  

Á’u 17. 7cm f=T;k okys v)Zo`Ùk dk {ks=Qy gS % 

(A)  221cm     (B) 277cm       (C)  284cm    (D) 2154cm   

  The area of the semicircle of radius 7cm is : 

(A)  221cm     (B) 277cm       (C)  284cm    (D) 2154cm  

Á’u 18. ;fn 7cm f=T;k okys o`Ùk ds y?kq o`Ùk[k.M dk {ks=Qy 214cm  gks rks nh?kZ o`Ùk[k.M dk {ks=Qy 

gksxk % 

(A)  2140cm    (B) 2150cm      (C)  2125cm    (D) 2200cm  

  If the area of minor segment of a circle of radius 7cm be 214cm , then the area of major 

segment will be : 

(A)  2140cm    (B) 2150cm      (C)  2125cm    (D) 2200cm  

Á’u 19. 7, 8, 9, 7, 8, 9, 9, 3, 5, 4 dk cgqyd gS % 

(A)  7     (B)  8   (C)  9   (D)  3 

  The mode of 7, 8, 9, 7, 8, 9, 9, 3, 5, 4 is : 

(A)  7     (B)  8   (C)  9   (D)  3 

Á’u 20. ,d iklk Qsadus ij 5 ikus dh Ákf;drk gS  % 

(A)  
1

3
     (B)  

1

6
      (C)  

2

3
  (D) 

5

6
   

  In a throwd of a die, the probability of getting a 5 is : 

(A)  
1

3
     (B)  

1

6
      (C)  

2

3
  (D) 

5

6
   

  dks"Bdksa dks"Bdksa dks"Bdksa dks"Bdksa esa fn, x, ‘kCnksa vFkok vadks esa ls lgh ‘kCnksa vFkok vadksa dk Á;ksx djrs gq, fjä esa fn, x, ‘kCnksa vFkok vadks esa ls lgh ‘kCnksa vFkok vadksa dk Á;ksx djrs gq, fjä esa fn, x, ‘kCnksa vFkok vadks esa ls lgh ‘kCnksa vFkok vadksa dk Á;ksx djrs gq, fjä esa fn, x, ‘kCnksa vFkok vadks esa ls lgh ‘kCnksa vFkok vadksa dk Á;ksx djrs gq, fjä 
LFkkuksa dks Hkfj, %LFkkuksa dks Hkfj, %LFkkuksa dks Hkfj, %LFkkuksa dks Hkfj, %    
Fill the blanks using the correct words of digits given in brackets : 

Á’u 21. 6

15
 dk n’keyo Álkj ----------------------------------------------gSA  ¼lkar] vlkar vkorhZ½ 

  
The decimal expansion of 

6

15
is ……     (terminating, non terminating repeating) 



Á’u 22. x vkSj y pjksa okyk O;kid jSf[kd lehdj.k dk #i ------------------- gksrk gSA  
           ( 0, 0)ax by c ax by c+ + = − − =   

  The general linear equation of variables x and y is of the form …………. 

       ( 0, 0)ax by c ax by c+ + = − − =  

Á’u 23. 2 4b ac−  dks f}?kkr lehdj.k 2 0ax bx c+ + =  dk ------------- dgrs gSaA ¼ewy] fofoDrdj½ 
  2 4b ac− is called the ……………..of the quadratic equation 2 0ax bx c+ + =  . 

       (roots, discriminant) 

Á’u 24. sin A  dk O;qRØe gS ------------------------------------------  
             ( ), seccos A co A  

  Reciprocal of sin A  is …………………….. 

             ( ), seccos A co A  

Á’u 25. fcUnq (2, 5) dh x- v{k ls nwjh ---------------------------------------------- gS 
             ¼7]    5½ 

  The distance of the point (2, 5) from the x – axis is ……………. 

              (7,   5) 

Á’u 26. lHkh oxZ ------------------------------------------ gksrs gSaA  
               ¼le#i] lokZaxle½ 

  All squares are …………………………. 

                        (similar,  congruent)  

Á’u 27. ,d o`Ùk dh -------------------------- Li’kZ js[kk,¡ gks ldrh gSaA     
                                                              ¼,d] vuUr½ 

  A circle can have ……………………. tangents.     

                   (one,  infinite)  

Á’u 28. r cm f=T;k okys o`Ùk dk {ks=Qy 2.............cm= gSA 
                ( )2 ,r rπ π  

  The area of the circle of radius r cm is ………. 

              ( )2 ,r rπ π  

Á’u 29. ;fn 3, 4, 5, 17, x dk ek/; 6 gks] rks x = ------------------------------ 
                 (1,   2) 

  If the mean of 3, 4, 5, 17, x is 6, then x = ……….. 

                  (1,   2) 

Á’u 30. ;fn E ,d fuf’pr ?kVuk gks] rks bldh Ákf;drk P(E) = --------------------------------  
            (0, 1) 

  If E is a sure event, then the probability of E, P(E) = …………… 

             (0, 1) 

  [k.M & [k.M & [k.M & [k.M & B (Section – B) 

¼Á’u la[;k 31 ls 40 rd ÁR;sd¼Á’u la[;k 31 ls 40 rd ÁR;sd¼Á’u la[;k 31 ls 40 rd ÁR;sd¼Á’u la[;k 31 ls 40 rd ÁR;sd    2 vad2 vad2 vad2 vadksaksaksaksa    dk gS½dk gS½dk gS½dk gS½    
(Question no. 31 to 40 carry 2 marks each)  

Á’u 31. 6 vkSj 20 dk vHkkT; xq.ku[k.M fof/k }kjk H.C.FKkr dhft,A 

  Find the HCF of 6 and 20 by the prime factorisation method. 

Á’u 32. cgqin 2( ) 2 3 1P x x x= + +  dks cgqin ( ) 2g x x= +  ls Hkkx nhft, vkSj HkkxQy ,oa ‘ks”kQy 



fyf[k,A 

  Divide the polynomial 2( ) 2 3 1P x x x= + + by the polynomial ( ) 2g x x= + and write the 

quotient and remainder. 

Á’u 33. lekarj Js.kh 7, 13, 19,………..205 esa fdrus in gSa \ 

Find the number of term in AP : 7, 13, 19,………..205 ? 

  vFkok vFkok vFkok vFkok (Or) 

  fdlh A.P dk ÁFke in 5] vafre in 45 vkSj ;ksx 400 gSA inksa dh la[;k Kkr dhft, 

The first term of an A.P is 5, the last term is 45 and the sum is 400. Find the number of 

terms. 

Á’u 34. ;fn 15 cot 8A =  rks sin A dk eku Kkr dhft,A 

  If 15 cot 8A = , then find the value of sin A. 

Á’u 35. fl) dhft, % ( )( )1 sin sec tan cosA A A A− + =  

  Prove that : ( )( )1 sin sec tan cosA A A A− + =  

Á’u 36. fcUnqvksa A(-5, 7) vkSj B(-1, 3)  ds chp dh nwjh Kkr dhft,A 

  Find the distance between the points : A(-5, 7) and B(-1, 3) 

Á’u 37. vkÑfr esa DE AC�  vkSj DF AE�  gSA fl) dhft, fd BE BF

EC FE
=  gSA 

 

  
In figure DE AC� and DF AE� . Prove that 

BE BF

EC FE
= - 

 

 

Á’u 38. fl) dhft, fd o`Ùk ds fdlh fcUnq ij Li’kZ js[kk Li’kZ fcanq ls tkus okyh f=T;k ij yEc gksrh 

gSA 



Prove that the tangent at any point of a circle is perpendicular to the radius through the 

point of contact. 

  vFkok vFkok vFkok vFkok (Or) 

  fl) dhft, fd fdlh o`Ùk ds fdlh O;kl ds fljksa ij [khaph xbZ Li’kZ js[kk,¡ lekarj gksrh gSaA 

Prove that the tangents drawn at the ends of a diameter of a circle are parallel. 

Á’u 39. ,d o`Ùk ds prqFkkZa’k dk {ks=Qy Kkr dhft,] ftldh ifjf/k 22 cm gSA 

Find the area of a quadrant of a circle whose circumference is 22 cm. 

Á’u 40. ,d FkSys esa 3 yky vkSj 5 dkyh xsans gSaA bl FkSys esa ls xsan ;kn`PN;k fudkyh tkrh gSA bldh 

Ákf;drk D;k gS fd xsan (a) yky gks \ (b) yky ugha gks \ 

A bag contains 3 red ball and 5 black balls. A ball is drawn at random from the bag. 

What is the probability that the ball drawn is (a) red ? (b) not red ? 

  vFkok vFkok vFkok vFkok (Or) 

  vPNh Ádkj ls QsaVh xbZ 50 iÙkksa dh ,d xÏh esa ls ,d iÙkk fudkyk tkrk gSA bldh Ákf;drk 

ifjdfyr dhft, fd ;g iÙkk (a) ,d bDdk gksxkA (b) ,d bDdk ugha gksxkA 

One card is drawn from a well-shuffled deck  of 52 cards. Calculate the probability that 

the card will (a) be an ace. (b) not be and ace. 

  [k.M & [k.M & [k.M & [k.M & C (Section – C) 

¼Á’u la[;k 41 ls 45 rd ÁR;sd 4 vad¼Á’u la[;k 41 ls 45 rd ÁR;sd 4 vad¼Á’u la[;k 41 ls 45 rd ÁR;sd 4 vad¼Á’u la[;k 41 ls 45 rd ÁR;sd 4 vadksaksaksaksa    dk gS½dk gS½dk gS½dk gS½    
(Question no. 41 to 45 carry 4 marks each) 

Á’u 41. la[;k 6] 72 vkSj 120 dk vHkkT; xq.ku[k.Mu fof/k }kjk HCF vkSj LCM Kkr dhft,A 

Find the HCF and LCM of 6, 72 and 120, using the prime factorization method. 

  vFkokvFkokvFkokvFkok    (Or) 

  fl) dhft, fd 6 2+  ,d vifjes; la[;k gSA 

Prove that 6 2+  is irrational. 

Á’u 42. foyksiu fof/k ls gy dhft,  
2 3 13; 4 5 23x y x y+ = + =  

  Solve by the elimination method : 

2 3 13; 4 5 23x y x y+ = + =  

  vFkok vFkok vFkok vFkok (Or) 

  foyksiu fof/k ls gy dhft,  
3 5 4 0 ; 9 2 7x y x y− − = = +  

  Solve by the elimination method : 

3 5 4 0 ; 9 2 7x y x y− − = = +  

Á’u 43. ml fcUnq ds funsZ’kkad Kkr dhft, tks fcUnqvksa (4, -3) vSj (8, 5) dks tksM+us okys js[kk[k.M dks 
vkarfjd #i ls 3 : 1 ds vuqikr esa foHkkftr djrk gSA 



Find the Co-ordinates of the point which divides the line segment joining the points (4, -

3) and (8, 5) in the ratio 3 : 1 internally.  

  vFkok vFkok vFkok vFkok (Or) 

  K dk eku Kkr dhft, rkfd rhuksa fcUnq lajs[kh gksa % 

(7, -2), (5, 1), (3, K) 

Find the value of K for which the points are collinear :  

(7, -2), (5, 1), (3, K) 

Á’u 44. 4cm, 5cm vkSj 6cm Hkqtkvksa okys ,d f=Hkqt dh jpuk dhft,  fQj blds le#i ,d vU; 

f=Hkqt dh jpuk dhft,] ftldh Hkqtk,¡ fn, gq, f=Hkqt dh laxr Hkqtkvksa dh 2

3
 xquh gksaA 

Construct a triangle of sides 4 cm, 5 cm and 6 cm and then a triangle similar to it whose 

sides are  
2

3
 of the corresponding sides of the first triangle. 

  vFkok vFkok vFkok vFkok (Or) 

  ,d f=Hkqt ABC cukb, ftlesa BC = 6 cm, AB = 5 cm vkSj 060ABC∠ = gksA fQj ,d 

f=Hkqt dh jpuk dhft, ftldh Hkqtk,¡ ABC∆  dh laxr Hkqtkvksa dh 3

4
 xquh gksaA 

Draw a triangle ABC with side BC = 6 cm, AB = 5 cm and 
060ABC∠ = . Then 

construct a triangle whose sides are 
3

4
 of the corresponding sides of the triangle ABC 

Á’u 45. ikuh ihus okyk ,d fxykl 14 cm Å¡pkbZ okys ,d ‘kadq ds fNUud ds vkdkj dk gSA nksuksa 

o`Ùkkdkj fljksa ds O;kl 4 cm vkSj 2cm gSaA bl fxykl dh /kkfjrk Kkr dhft,A 

A drinking glass is in the shape of a frustum of a cone of height 14 cm. The diameters of 

its two circular ends are 4 cm and 2 cm. Find the capacity of the glass. 

  vFkok vFkok vFkok vFkok (Or) 

  ,d ‘kadq ds fNUud tks 45cm  Å¡pk gS] ds fljksa dh f=T;k,¡ 28cm vkSj 7cm gSA bldk 

vk;ru Kkr dhft,A 

The radii of the ends of a frustum of a cone 45 cm high are 28 cm and 7 cm. Find the 

volume. 

  [k.M & [k.M & [k.M & [k.M & D (Section – D) 

¼Á’u la[;k 46 ls 49 rd ÁR;sd 5¼Á’u la[;k 46 ls 49 rd ÁR;sd 5¼Á’u la[;k 46 ls 49 rd ÁR;sd 5¼Á’u la[;k 46 ls 49 rd ÁR;sd 5    vadvadvadvadksaksaksaksa    dk gS½dk gS½dk gS½dk gS½    
(Question no. 46 to 49 carry 5 marks each) 

Á’u 46. f}?kkr lehfj.k 22 3 5 0x x− + =  dk fofoDrdj rFkk f}?kkrh lw= dk mi;ksx dj ewy Kkr 
djsaA 
Find out discriminate and root, using binomial formula of the quadratic equation : 

22 2 2 1 0x x− + =  



vFkokvFkokvFkokvFkok    (OR) 

22 7 3 0x x− + =     
Á’u 47. ,d lery tehu ij [kM+h ehukj dh Nk;k ml fLFkfr esa 40 m vf/kd yEch gks tkrh gS tcfd 

lw;Z dk mUurka’k 060  ls ?kVdj 030  gks tkrk gSA ehukj dh Å¡pkbZ Kkr dhft,A  
The shadow of a tower standing on a level ground is found to be 40 m longer when the 

sun’s altitude is 030  than when it is 060 . Find the height of the tower. 

  vFkokvFkokvFkokvFkok    (Or) 

  ,d ehukj ds ikn&fcUnq ls ,d Hkou ds f’k[kj dk mUu;u dks.k 030  gS vkSj Hkou ds 
ikn&fcUnq ls ehukj ds f’k[kj dk mUu;u dks.k 060  gSA ;fn ehukj 50m Å¡ph gks] rks Hkou dh 
Å¡pkbZ Kkr dhft,A 
The angle of elevation of the top of building from the foot of the tower is 030  and the 

angle of elevation of the top of the tower from the foot of the building is 060 . If the 

tower is 50 m high, find the height of the building. 

Á’u 48. fl) dhft, fd ,d ledks.k f=Hkqt esa d.kZ dk oxZ ‘ks”k nks Hkqtkvksa ds oxksZa ds ;ksx ds cjkcj 
gksrk gSA 

  Prove that in a right triangle, the square of the hypotenuse is equal to the sum of the 

squares of the other two sides. 

Á’u 49. ÁR;{k fof/k ls ek/; Kkr dhft, % 

oxZ varjky 100-120 120-140 140-160 160-180 160-200 

ckjackjrk 12 14 8 6 10 
 

  Find the mean by direct method : 

 

 

 
 

Class 

interval 100-120 120-140 140-160 160-180 160-200 

Frequency 12 14 8 6 10 

  vFkokvFkokvFkokvFkok    (Or) 

  ek/;d Kkr dhft, % 

oxZ varjky 40-45 45-50 50-55 55-60 60-65 65-70 70-75 

ckjackjrk 2 3 8 6 6 3 2 
 

  Find the median :  % 

Class 

interval 
40-45 45-50 50-55 

55-60 60-65 
65-70 70-75 

Frequency  2 3 8 6 6 3 2 
 

 

 

-----------------*------------------ 


